



Available online at <http://scik.org>

J. Math. Comput. Sci. 11 (2021), No. 6, 8046-8066

<https://doi.org/10.28919/jmcs/6462>

ISSN: 1927-5307

FIXED POINT RESULTS FOR VARIOUS CONTRACTIVE CONDITIONS IN b-MULTIPLICATIVE METRIC SPACE

SHALINI NAGPAL¹, SUSHMA DEVI², MANOJ KUMAR^{1,*}

¹Department of Mathematics, Baba Mastnath University, Rohtak, 124001, India

²Department of Mathematics, Kanya Mahavidyalya, Kharkhoda, Sonipat, 131402, India

Copyright © 2021 the author(s). This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract: The aim of this paper is to prove several fixed point results by using various contractive conditions in b-multiplicative metric space.

Keywords: fixed point; b-multiplicative metric space; contraction mapping.

2010 AMS Subject Classification: 47H10, 54H25.

1. INTRODUCTION

The idea of b-metric was first given by Bakhtin [5] in 1989. Forward, the b-metric was formally defined by Czerwik [8] in 1993. In 2013, Kir et al. [11] defined some well-known fixed point theorems in b-metric space. Kamran et al. [10] introduced the concept of extended b-metric space and worked on fixed point theorems for self-mappings. Then, Suzuki [14] proved some fixed point theorems using basic inequalities on a b-metric space. Bashirov et al. [6] developed the concept of multiplicative metric space. After that, Ozavsar and Cevikel [15] developed

*Corresponding author

E-mail address: manojantil18@gmail.com

Received July 4, 2021

multiplicative metric space accompanying their topological properties and proved some fixed point theorems for contraction mappings of multiplicative metric space. Then, in 2015 Abodayeh et al. [1] worked on the relation between metric and multiplicative metric spaces and proved some fixed point theorems in multiplicative metric space. In 2016, Shukla [13] showed that multiplicative metric is a particular case of metric space. Dosenovic et al. [9] worked on various fixed point results for various multiplicative contractive mappings. Recently in 2017, the notion of b-multiplicative metric space was introduced by Ali et al. [4] and proved some fixed point results. As an application, they established an existence theorem for solution of system of Fredholm multiplicative integral equation. Currently, in 2020, Shoaib and Saleemullah [12] extended the result of Ali et al. by applying contractive condition on closed ball in b-multiplicative metric space. In this paper, we will obtain the fixed point theorems in b-multiplicative metric space by using different contraction conditions.

2. PRELIMINARIES

Definition 2.1[2] Let X be a non-empty set. A mapping $d^*: X \times X \rightarrow \mathbb{R}^*$ is multiplicative metric if d^* satisfies the following conditions:

1. $d^*(x, y) \geq 1$ for all $x, y \in X$;
2. $d^*(x, y) = 1$ iff $x = y$ for all $x, y \in X$;
3. $d^*(x, y) = d^*(y, x)$ for all $x, y \in X$;
4. $d^*(x, z) \leq d^*(x, y) \cdot d^*(y, z)$ for all $x, y, z \in X$.

The pair (X, d^*) is called a multiplicative metric space.

Definition 2.2[3] Let X be a non-empty set and $s \geq 1$ be a given real number. A mapping $d: X \times X \rightarrow \mathbb{R}^+$ is called a b-metric if the following conditions hold:

1. $d(x, y) \geq 0$ for all $x, y \in X$;
2. $d(x, y) = 0$ iff $x = y$ for all $x, y \in X$;

3. $d(x, y) = d(y, x)$ for all $x, y \in X$;

4. $d(x, z) \leq s\{d(x, y) + d(y, z)\}$ for all $x, y, z \in X$.

The triplet (X, d, s) is called b-metric space.

Definition 2.3[4] Let X be a non-empty set and $s \geq 1$ be a given real number. A mapping

$d^*: X \times X \rightarrow \mathbb{R}^*$ is called a b-multiplicative metric if the following conditions hold:

1. $d^*(x, y) \geq 1$ for all $x, y \in X$;

2. $d^*(x, y) = 1$ iff $x = y$ for all $x, y \in X$;

3. $d^*(x, y) = d^*(y, x)$ for all $x, y \in X$;

4. $d^*(x, z) \leq \{d^*(x, y) \cdot d^*(y, z)\}^s$ for all $x, y, z \in X$.

The triplet (X, d^*, s) is called a b-multiplicative metric space.

Definition 2.4[4] Let (X, d^*, s) be a b-multiplicative metric space.

1. A sequence $\{x_n\}$ is convergent iff there exists $x \in X$ such that

$$d^*(x_n, x) \rightarrow 1 \quad \text{as } n \rightarrow +\infty .$$

2. A sequence $\{x_n\}$ is called b-multiplicative Cauchy sequence iff

$$d^*(x_n, x_m) \rightarrow 1 \quad \text{as } n \rightarrow +\infty .$$

3. A b-multiplicative metric space (X, d^*, s) is said to be complete if every b-multiplicative Cauchy sequence in X is convergent in X .

Definition 2.5[7] Let (X, d^*) be a multiplicative metric space. A mapping $T : X \rightarrow X$ is called

the multiplicative contraction if there exists $\lambda \in [0, 1)$ such that for all $x, y \in X$,

$$d^*(Tx, Ty) \leq \{d^*(x, y)\}^\lambda .$$

Definition 2.6 Let (X, d^*, s) be a b-multiplicative metric space. A mapping $T : X \rightarrow X$ is

called the b-multiplicative contraction if there exists $\lambda \in [0,1)$ such that for all $x, y \in X$,

$$d^*(Tx, Ty) \leq \{d^*(x, y)\}^\lambda.$$

3. MAIN RESULTS

This section contains some fixed point theorems in b-multiplicative metric space.

Theorem 3.1. Let (X, d^*, s) be a complete b-multiplicative metric space and $T : X \rightarrow X$ be a mapping such that

$$d^*(Tx, Ty) \leq \{d^*(x, y)\}^\lambda \quad \forall x, y \in X \quad (3.1)$$

where $0 \leq \lambda < 1$, $s\lambda < 1$ and $s \geq 1$. Then, T has a unique fixed point.

Proof. Let $x_0 \in X$ and $\{x_n\}$ be sequence in X defined by the recursion

$$x_n = Tx_{n-1} = \dots = T^n x_0, n = 1, 2, 3, \dots \quad (3.2)$$

By (3.1) and (3.2), we obtain that

$$\begin{aligned} d^*(x_{n+1}, x_n) &= d^*(Tx_n, Tx_{n-1}) \leq \{d^*(x_n, x_{n-1})\}^\lambda, \quad \text{where } \lambda < 1 \\ \Rightarrow d^*(Tx_n, Tx_{n-1}) &\leq \{d^*(x_{n-1}, x_{n-2})\}^{\lambda^2} \end{aligned}$$

Continuing this process, we get

$$\Rightarrow d^*(Tx_n, Tx_{n-1}) \leq \{d^*(x_1, x_0)\}^{\lambda^n} = \{d^*(x_0, x_1)\}^{\lambda^n} \quad (3.3)$$

Therefore, T is a b-multiplicative contraction mapping.

Let $m, n \in \mathbb{N}$ where $m > n$. Then,

$$\begin{aligned} d^*(x_n, x_m) &\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_m)\}^s \\ &\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_m)\}^{s^2} \\ &\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_{n+3})\}^{s^3} \dots \{d^*(x_{m-1}, x_m)\}^{s^{m-n}} \end{aligned}$$

Using (3.3), we get

$$\begin{aligned}
d^*(x_n, x_m) &\leq \{d^*(x_0, x_1)\}^{s\lambda^n} \{d^*(x_0, x_1)\}^{s^2\lambda^{n+1}} \{d^*(x_0, x_1)\}^{s^3\lambda^{n+2}} \dots \{d^*(x_0, x_1)\}^{s^{m-n}\lambda^{m-1}} \\
&\leq \{d^*(x_0, x_1)\}^{s\lambda^n(1+s\lambda+s^2\lambda^2+\dots+s^{m-n-1}\lambda^{m-n-1})} \\
&\leq \{d^*(x_0, x_1)\}^{\frac{s\lambda^n}{1-s\lambda}}
\end{aligned}$$

This shows that $d^*(x_n, x_m) \rightarrow 1$ as $m, n \rightarrow \infty$. Thus, the sequence $\{x_n\}$ is b-multiplicative Cauchy sequence in X . But (X, d^*, s) is given to be a complete metric space. Therefore, there exists a point $x^* \in X$ such that $x_n \rightarrow x^*$ as $n \rightarrow \infty$.

Now, we show that x^* is fixed point of T . For this, we have

$$\begin{aligned}
d^*(x^*, Tx^*) &\leq \{d^*(x^*, Tx_n)\}^s \{d^*(Tx_n, Tx^*)\}^s \\
&\leq \{d^*(x^*, Tx_n)\}^s \{d^*(Tx_n, Tx^*)\}^s \\
&\leq \{d^*(x^*, x_{n+1})\}^s \{d^*(x_n, x^*)\}^{s\lambda}
\end{aligned}$$

$$\Rightarrow d^*(x^*, Tx^*) \rightarrow 1 \text{ as } n \rightarrow \infty.$$

This shows that x^* is fixed point of T .

Now, we prove the uniqueness of fixed point of T . For this, let x' be another fixed point of T i.e., $T(x') = x'$. Also,

$$d^*(x^*, x') = d^*(Tx^*, Tx') \leq \{d^*(x^*, x')\}^\lambda$$

Thus, $d^*(x^*, x') = 1$ and hence $x^* = x'$.

This shows that x^* is the unique fixed point of T .

Theorem 3.2. Let (X, d^*, s) be a complete b-multiplicative metric space and $T: X \rightarrow X$ be a mapping such that

$$d^*(Tx, Ty) \leq \{d^*(Tx, x) d^*(Ty, y)\}^p \quad \forall x, y \in X \quad (3.4)$$

where $0 < p < \frac{1}{2}$, $p(1+s) < 1$ and $s \geq 1$. Then, T has a unique fixed point.

Proof. Consider $x_0 \in X$. Define a sequence of points $\{x_n\}$ in X such that

$$x_n = Tx_{n-1} = \dots = T^n x_0, \quad n = 1, 2, 3, \dots \quad (3.5)$$

From (3.4) and (3.5), we obtain that

$$\begin{aligned}
 d^*(x_{n+1}, x_n) &= d^*(Tx_n, Tx_{n-1}) \\
 &\leq \{d^*(Tx_n, x_n) d^*(Tx_{n-1}, x_{n-1})\}^p \\
 &= \{d^*(x_{n+1}, x_n) d^*(x_n, x_{n-1})\}^p \\
 &= \{d^*(x_{n+1}, x_n)\}^p \{d^*(x_n, x_{n-1})\}^p \\
 \Rightarrow \{d^*(x_{n+1}, x_n)\}^{1-p} &\leq d^*(x_n, x_{n-1})^p \\
 \Rightarrow d^*(x_{n+1}, x_n) &\leq \{d^*(x_n, x_{n-1})\}^{\frac{p}{1-p}} \\
 \Rightarrow d^*(x_{n+1}, x_n) &\leq \{d^*(x_n, x_{n-1})\}^\lambda, \quad \lambda = \frac{p}{1-p} < 1 \\
 \Rightarrow d^*(Tx_n, Tx_{n-1}) &\leq \{d^*(x_{n-1}, x_{n-2})\}^{\lambda^2}
 \end{aligned}$$

Proceeding in the same manner, we get

$$d^*(Tx_n, Tx_{n-1}) \leq \{d^*(x_1, x_0)\}^{\lambda^n} = \{d^*(x_0, x_1)\}^{\lambda^n} \quad (3.6)$$

So, T is b-multiplicative contraction mapping.

Suppose $m, n \in \mathbb{N}$ where $m > n$. Then,

$$\begin{aligned}
 d^*(x_n, x_m) &\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_m)\}^s \\
 &\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_m)\}^{s^2} \\
 &\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_{n+3})\}^{s^3} \dots \{d^*(x_{m-1}, x_m)\}^{s^{m-n}} \\
 &\leq \{d^*(x_0, x_1)\}^{s\lambda^n} \{d^*(x_0, x_1)\}^{s^2\lambda^{n+1}} \{d^*(x_0, x_1)\}^{s^3\lambda^{n+2}} \dots \{d^*(x_0, x_1)\}^{s^{m-n}\lambda^{m-1}} \quad (\text{Using 3.6}) \\
 &\leq \{d^*(x_0, x_1)\}^{s\lambda^n(1+s\lambda+s^2\lambda^2+\dots+s^{m-n-1}\lambda^{m-n-1})} \\
 &\leq \{d^*(x_0, x_1)\}^{\frac{s\lambda^n}{1-s\lambda}}
 \end{aligned}$$

This signifies that $d^*(x_n, x_m) \rightarrow 1$ as $m, n \rightarrow \infty$. Therefore, the sequence $\{x_n\}$ is b-multiplicative Cauchy sequence in X . But (X, d^*, s) is a complete metric space. So, there exists a point $x^* \in X$ such that $x_n \rightarrow x^*$ as $n \rightarrow \infty$.

Further, we show that x^* is fixed point of T . For this, we have

$$\begin{aligned} d^*(Tx^*, x^*) &\leq \{d^*(Tx^*, Tx_n) d^*(Tx_n, x^*)\}^s \\ &\leq \{d^*(Tx^*, x^*) d^*(Tx_n, x_n)\}^{sp} \{d^*(Tx_n, x^*)\}^s \\ \Rightarrow \{d^*(Tx^*, x^*)\}^{1-sp} &\leq \{d^*(Tx_n, x_n)\}^{sp} \{d^*(Tx_n, x^*)\}^s \\ \Rightarrow d^*(Tx^*, x^*) &\leq \{d^*(x_{n+1}, x_n)\}^{\frac{sp}{1-sp}} \{d^*(x_{n+1}, x^*)\}^{\frac{s}{1-sp}} \\ \Rightarrow d^*(Tx^*, x^*) &\rightarrow 1 \text{ as } n \rightarrow \infty. \end{aligned}$$

This shows that T has a fixed point.

Further, let x' be another fixed point of T i.e., $T(x') = x'$.

Then,

$$\begin{aligned} d^*(x^*, x') &= d^*(Tx^*, Tx') \leq \{d^*(Tx^*, x^*) d^*(Tx', x')\}^p \\ \Rightarrow d^*(x^*, x') &= d^*(Tx^*, Tx') \leq \{d^*(x^*, x^*) d^*(x', x')\}^p = 1. \end{aligned}$$

Thus, $d^*(x^*, x') = 1$ and hence $x^* = x'$.

This proves that T has a unique fixed point.

Theorem 3.3. Let (X, d^*, s) be a complete b-multiplicative metric space and $T : X \rightarrow X$ be a mapping such that

$$d^*(Tx, Ty) \leq \{d^*(Tx, y) d^*(Ty, x)\}^p \quad \forall x, y \in X \quad (3.7)$$

where $ps < \frac{1}{2}$, $ps(1+s) < 1$ and $s \geq 1$. Then, T has a unique fixed point.

Proof. Consider $x_0 \in X$. Define a sequence of points $\{x_n\}$ in X such that

$$x_n = Tx_{n-1} = \dots = T^n x_0, \quad n = 1, 2, 3, \dots \quad (3.8)$$

From (3.7) and (3.8), we obtain that

$$\begin{aligned} d^*(x_{n+1}, x_n) &= d^*(Tx_n, Tx_{n-1}) \\ &\leq \{d^*(Tx_n, x_{n-1}) d^*(Tx_{n-1}, x_n)\}^p \\ &= \{d^*(x_{n+1}, x_{n-1}) d^*(x_n, x_n)\}^p \\ &= \{d^*(x_{n+1}, x_n) d^*(x_n, x_{n-1})\}^{sp} \end{aligned}$$

$$\begin{aligned}
&\Rightarrow \{d^*(x_{n+1}, x_n)\}^{1-sp} \leq \{d^*(x_n, x_{n-1})\}^{sp} \\
&\Rightarrow d^*(x_{n+1}, x_n) \leq \{d^*(x_n, x_{n-1})\}^{\frac{sp}{1-sp}} \\
&\Rightarrow d^*(x_{n+1}, x_n) \leq \{d^*(x_n, x_{n-1})\}^\lambda, \quad \lambda = \frac{sp}{1-sp} < 1 \\
&\Rightarrow d^*(Tx_n, Tx_{n-1}) \leq \{d^*(x_{n-1}, x_{n-2})\}^{\lambda^2}
\end{aligned}$$

Continuing this process, we get

$$d^*(Tx_n, Tx_{n-1}) \leq \{d^*(x_1, x_0)\}^{\lambda^n} = \{d^*(x_0, x_1)\}^{\lambda^n} \quad (3.9)$$

So, T is b-multiplicative contraction mapping.

Let $m, n \in \mathbb{N}$ such that $m > n$, we have

$$\begin{aligned}
d^*(x_n, x_m) &\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_m)\}^s \\
&\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_m)\}^{s^2} \\
&\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_{n+3})\}^{s^3} \dots \{d^*(x_{m-1}, x_m)\}^{s^{m-n}} \\
&\leq \{d^*(x_0, x_1)\}^{s\lambda^n} \{d^*(x_0, x_1)\}^{s^2\lambda^{n+1}} \{d^*(x_0, x_1)\}^{s^3\lambda^{n+2}} \dots \{d^*(x_0, x_1)\}^{s^{m-n}\lambda^{m-1}} \quad (\text{Using 3.9}) \\
&\leq \{d^*(x_0, x_1)\}^{s\lambda^n (1+s\lambda+s^2\lambda^2+\dots+s^{m-n-1}\lambda^{m-n-1})} \\
&\leq \{d^*(x_0, x_1)\}^{\frac{s\lambda^n}{1-s\lambda}}
\end{aligned}$$

This proves that $d^*(x_n, x_m) \rightarrow 1$ as $m, n \rightarrow \infty$. Hence, the sequence $\{x_n\}$ is b-multiplicative

Cauchy sequence in X . But (X, d^*, s) is given to be a complete metric space. Therefore,

there exists a point $x^* \in X$ such that $x_n \rightarrow x^*$ as $n \rightarrow \infty$.

Now, we show that x^* is fixed point of T .

$$\begin{aligned}
d^*(x^*, Tx^*) &\leq \{d^*(Tx^*, Tx_n) d^*(Tx_n, x^*)\}^s \\
&\leq \{d^*(Tx^*, x_n) d^*(Tx_n, x^*)\}^{ps} \{d^*(Tx_n, x^*)\}^s \\
&\leq \{d^*(Tx^*, x^*) d^*(x^*, x_n)\}^{ps^2} \{d^*(Tx_n, x^*)\}^{ps} \{d^*(Tx_n, x^*)\}^s \\
&\Rightarrow \{d^*(x^*, Tx^*)\}^{1-s^2p} \leq \{d^*(x^*, x_n)\}^{ps^2} \{d^*(x_{n+1}, x^*)\}^{ps+s}
\end{aligned}$$

$$\begin{aligned} \Rightarrow \{d^*(x^*, Tx^*)\} &\leq \{d^*(x^*, x_n)\}^{\frac{ps^2}{1-s^2p}} \{d^*(x_{n+1}, x^*)\}^{\frac{ps+s}{1-s^2p}} \\ \Rightarrow d^*(x^*, Tx^*) &\rightarrow 1 \text{ as } n \rightarrow \infty. \end{aligned}$$

This signifies that x^* is fixed point of T .

Now, we prove the uniqueness of fixed point of T . For this, let x' be another fixed point of T i.e., $T(x') = x'$.

$$\begin{aligned} d^*(x^*, x') &= d^*(Tx^*, Tx') \leq \{d^*(Tx^*, x')d^*(Tx', x^*)\}^p \\ \Rightarrow d^*(x^*, x') &= d^*(Tx^*, Tx') \leq \{d^*(x^*, x')d^*(x', x^*)\}^p \\ \Rightarrow d^*(x^*, x') &= d^*(Tx^*, Tx') \leq \{d^*(x^*, x')\}^{2p} \\ \Rightarrow \{d^*(x^*, x')\}^{1-2p} &\leq 1. \end{aligned}$$

Thus, $d^*(x^*, x') = 1$ and hence $x^* = x'$.

This signifies that x^* is the unique fixed point of T .

Theorem 3.4. Let (X, d^*, s) be a complete b-multiplicative metric space. If the function $T: X \rightarrow X$ meets the following condition:

$$d^*(Tx, Ty) \leq \{d^*(x, y)\}^p \{d^*(Tx, x)d^*(Ty, y)\}^q \quad \forall x, y \in X \quad (3.10)$$

where $p + 2q < 1, 0 < q < 1, s(p + q) + q < 1$ and $s \geq 1$, then we get a unique fixed point of function T .

Proof. Let x_0 be any point in X . Define a sequence of points $\{x_n\}$ in X such that

$$x_n = Tx_{n-1} = \dots = T^n x_0, \quad n = 1, 2, 3, \dots$$

We have

$$\begin{aligned} d^*(x_{n+1}, x_n) &= d^*(Tx_n, Tx_{n-1}) \\ &\leq \{d^*(x_n, x_{n-1})\}^p \{d^*(Tx_n, x_n)d^*(Tx_{n-1}, x_{n-1})\}^q \\ &= \{d^*(x_n, x_{n-1})\}^p \{d^*(x_{n+1}, x_n)d^*(x_n, x_{n-1})\}^q \\ &= \{d^*(x_n, x_{n-1})\}^{p+q} \{d^*(x_{n+1}, x_n)\}^q \end{aligned}$$

$$\begin{aligned}
&\Rightarrow \{d^*(x_{n+1}, x_n)\}^{1-q} \leq \{d^*(x_n, x_{n-1})\}^{p+q} \\
&\Rightarrow d^*(x_{n+1}, x_n) \leq \{d^*(x_n, x_{n-1})\}^{\frac{p+q}{1-q}} \\
&\Rightarrow d^*(x_{n+1}, x_n) \leq \{d^*(x_n, x_{n-1})\}^\lambda, \quad \lambda = \frac{p+q}{1-q} < 1 \\
&\Rightarrow d^*(Tx_n, Tx_{n-1}) \leq \{d^*(x_{n-1}, x_{n-2})\}^{\lambda^2} \\
&\qquad \leq \{d^*(x_{n-2}, x_{n-3})\}^{\lambda^3} \\
&\qquad \vdots \\
&\qquad \leq \{d^*(x_1, x_0)\}^{\lambda^n} = \{d^*(x_0, x_1)\}^{\lambda^n} \tag{3.11}
\end{aligned}$$

Now for $m > n$, we have

$$\begin{aligned}
d^*(x_n, x_m) &\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_m)\}^s \\
&\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_m)\}^{s^2} \\
&\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_{n+3})\}^{s^3} \dots \{d^*(x_{m-1}, x_m)\}^{s^{m-n}} \\
&\leq \{d^*(x_0, x_1)\}^{s\lambda^n} \{d^*(x_0, x_1)\}^{s^2\lambda^{n+1}} \{d^*(x_0, x_1)\}^{s^3\lambda^{n+2}} \dots \{d^*(x_0, x_1)\}^{s^{m-n}\lambda^{m-1}} \quad (\text{Using 3.11}) \\
&\leq \{d^*(x_0, x_1)\}^{s\lambda^n (1+s\lambda+s^2\lambda^2+\dots+s^{m-n-1}\lambda^{m-n-1})} \\
&\leq \{d^*(x_0, x_1)\}^{\frac{s\lambda^n}{1-s\lambda}}
\end{aligned}$$

This signifies that $d^*(x_n, x_m) \rightarrow 1$ as $m, n \rightarrow \infty$. Thus, the sequence $\{x_n\}$ is b-multiplicative Cauchy sequence in X . Being the completeness of (X, d^*, s) , there exists a point $x^* \in X$ such that $x_n \rightarrow x^*$ as $n \rightarrow \infty$.

Now,

$$\begin{aligned}
d^*(x^*, Tx^*) &\leq \{d^*(Tx^*, Tx_n) d^*(Tx_n, x^*)\}^s \\
&\leq \{d^*(Tx_n, Tx^*)\}^s \{d^*(Tx_n, x^*)\}^s \\
&\leq [\{d^*(x^*, x_n)\}^p \{d^*(Tx_n, x_n) d^*(Tx^*, x^*)\}^q]^s \{d^*(Tx_n, x^*)\}^s \\
&\leq \{d^*(x^*, x_n)\}^{ps} \{d^*(x_{n+1}, x_n)\}^{qs} \{d^*(Tx^*, x^*)\}^{qs} \{d^*(x_{n+1}, x^*)\}^s
\end{aligned}$$

$$\begin{aligned} &\Rightarrow \{d^*(x^*, Tx^*)\}^{1-qs} \leq \{d^*(x^*, x_n)\}^{ps} \{d^*(x_{n+1}, x_n)\}^{qs} \{d^*(x_{n+1}, x^*)\}^s \\ &\Rightarrow \{d^*(x^*, Tx^*)\} \leq \{d^*(x^*, x_n)\}^{\frac{ps}{1-qs}} \{d^*(x_{n+1}, x_n)\}^{\frac{qs}{1-qs}} \{d^*(x_{n+1}, x^*)\}^{\frac{s}{1-qs}} \\ &\Rightarrow d^*(x^*, Tx^*) \rightarrow 1 \text{ as } n \rightarrow \infty. \end{aligned}$$

This signifies that $Tx^* = x^*$.

So, we can say that x^* is fixed point of the mapping T .

Now, if x' be another fixed point of mapping T , then we have

$$\begin{aligned} d^*(x^*, x') &= d^*(Tx^*, Tx') \leq \{d^*(x^*, x')\}^p \{d^*(Tx^*, x^*)d^*(Tx', x')\}^q \\ &\Rightarrow d^*(x^*, x') = d^*(Tx^*, Tx') \leq \{d^*(x^*, x')\}^p \{d^*(x^*, x^*)d^*(x', x')\}^q \\ &\Rightarrow d^*(x^*, x') = d^*(Tx^*, Tx') \leq \{d^*(x^*, x')\}^p \\ &\Rightarrow \{d^*(x^*, x')\}^{1-p} \leq 1. \end{aligned}$$

Thus, $d^*(x^*, x') = 1$. So, $x^* = x'$.

Hence, we obtain a unique fixed point of T .

Theorem 3.5. Let (X, d^*, s) be a complete b-multiplicative metric space. If the function $T: X \rightarrow X$ meets the following condition:

$$d^*(Tx, Ty) \leq \{d^*(Tx, x)d^*(Ty, y)\}^p \{d^*(Tx, y)d^*(Ty, x)\}^q \quad \forall x, y \in X \quad (3.12)$$

where $p + sq < \frac{1}{2}$, $p(1+s) + sq(1+s) < 1$ and $s \geq 1$. Then, we get a unique fixed point $x^* \in X$ such that $Tx^* = x^*$.

Proof. Let x_0 be any point in X . Define a sequence of points $\{x_n\}$ in X such that

$$x_n = Tx_{n-1} = \dots = T^n x_0, \quad n = 1, 2, 3, \dots$$

We have

$$\begin{aligned} d^*(x_{n+1}, x_n) &= d^*(Tx_n, Tx_{n-1}) \\ &\leq \{d^*(Tx_n, x_n)d^*(Tx_{n-1}, x_{n-1})\}^p \{d^*(Tx_n, x_{n-1})d^*(Tx_{n-1}, x_n)\}^q \\ &= \{d^*(x_{n+1}, x_n)d^*(x_n, x_{n-1})\}^p \{d^*(x_{n+1}, x_{n-1})d^*(x_n, x_n)\}^q \\ &= \{d^*(x_{n+1}, x_n)d^*(x_n, x_{n-1})\}^p \{d^*(x_{n+1}, x_n)d^*(x_n, x_{n-1})\}^{sq} \end{aligned}$$

$$\begin{aligned}
&\Rightarrow \{d^*(x_{n+1}, x_n)\}^{1-p-sq} \leq \{d^*(x_n, x_{n-1})\}^{p+sq} \\
&\Rightarrow d^*(x_{n+1}, x_n) \leq \{d^*(x_n, x_{n-1})\}^{\frac{p+sq}{1-p-sq}} \\
&\Rightarrow d^*(x_{n+1}, x_n) \leq \{d^*(x_n, x_{n-1})\}^\lambda, \quad \lambda = \frac{p+sq}{1-p-sq} < 1 \\
&\Rightarrow d^*(Tx_n, Tx_{n-1}) \leq \{d^*(x_{n-1}, x_{n-2})\}^{\lambda^2} \\
&\qquad \qquad \qquad \leq \{d^*(x_{n-2}, x_{n-3})\}^{\lambda^3} \\
&\qquad \qquad \qquad \vdots \\
&\qquad \qquad \qquad \leq \{d^*(x_1, x_0)\}^{\lambda^n} = \{d^*(x_0, x_1)\}^{\lambda^n} \tag{3.13}
\end{aligned}$$

Now for $m > n$, we have

$$\begin{aligned}
d^*(x_n, x_m) &\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_m)\}^s \\
&\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_m)\}^{s^2} \\
&\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_{n+3})\}^{s^3} \dots \{d^*(x_{m-1}, x_m)\}^{s^{m-n}} \\
&\leq \{d^*(x_0, x_1)\}^{s\lambda^n} \{d^*(x_0, x_1)\}^{s^2\lambda^{n+1}} \{d^*(x_0, x_1)\}^{s^3\lambda^{n+2}} \dots \{d^*(x_0, x_1)\}^{s^{m-n}\lambda^{m-1}} \text{ (Using 3.13)} \\
&\leq \{d^*(x_0, x_1)\}^{s\lambda^n(1+s\lambda+s^2\lambda^2+\dots+s^{m-n-1}\lambda^{m-n-1})} \\
&\leq \{d^*(x_0, x_1)\}^{\frac{s\lambda^n}{1-s\lambda}}
\end{aligned}$$

This shows that $d^*(x_n, x_m) \rightarrow 1$ as $m, n \rightarrow \infty$. So, the sequence $\{x_n\}$ is b- multiplicative Cauchy sequence in X . Being the completeness of (X, d^*, s) , there exist a point $x^* \in X$ such that $x_n \rightarrow x^*$ as $n \rightarrow \infty$.

Now, we show that x^* is fixed point of T .

$$\begin{aligned}
d^*(x^*, Tx^*) &\leq \{d^*(Tx^*, Tx_n) d^*(Tx_n, x^*)\}^s \\
&\Rightarrow d^*(x^*, Tx^*) \leq \{d^*(Tx_n, Tx^*)\}^s \{d^*(Tx_n, x^*)\}^s \\
&\Rightarrow \{d^*(x^*, Tx^*)\} \leq \{d^*(Tx_n, x_n) d^*(Tx^*, x^*)\}^{sp} \{d^*(Tx_n, x^*) d^*(Tx^*, x_n)\}^{sq} \{d^*(Tx_n, x^*)\}^s
\end{aligned}$$

$$\begin{aligned}
&\Rightarrow \{d^*(x^*, Tx^*)\} \leq \{d^*(x_{n+1}, x_n)\}^{sp} \{d^*(Tx^*, x^*)\}^{sp} \{d^*(x_{n+1}, x^*)\}^{sq} \{d^*(Tx^*, x_n)\}^{sq} \{d^*(x_{n+1}, x^*)\}^s \\
&\Rightarrow \{d^*(x^*, Tx^*)\}^{1-sp} \leq \{d^*(x_{n+1}, x_n)\}^{sp} \{d^*(x^*, x_{n+1})\}^{sq+s} \{d^*(Tx^*, x_n)\}^{sq} \\
&\Rightarrow d^*(x^*, Tx^*) \leq \{d^*(x_{n+1}, x_n)\}^{\frac{sp}{1-sp}} \{d^*(x^*, x_{n+1})\}^{\frac{sq+s}{1-sp}} \{d^*(Tx^*, x_n)\}^{\frac{sq}{1-sp}} \\
&\Rightarrow d^*(x^*, Tx^*) \rightarrow 1 \text{ as } n \rightarrow \infty.
\end{aligned}$$

This signifies that $Tx^* = x^*$ and hence x^* is fixed point of function T .

Again if x' is some other fixed point of function T , then we have

$$\begin{aligned}
d^*(x^*, x') &= d^*(Tx^*, Tx') \leq \{d^*(Tx^*, x^*)d^*(Tx', x')\}^p \{d^*(Tx^*, x')d^*(Tx', x^*)\}^q \\
&\Rightarrow d^*(x^*, x') = d^*(Tx^*, Tx') \leq \{d^*(x^*, x')\}^{2q} \{d^*(x^*, x^*)d^*(x', x')\}^p \\
&\Rightarrow d^*(x^*, x') = d^*(Tx^*, Tx') \leq \{d^*(x^*, x')\}^{2q} \\
&\Rightarrow \{d^*(x^*, x')\}^{1-2q} \leq 1
\end{aligned}$$

Therefore, $d^*(x^*, x') = 1$ and thus $x^* = x'$.

Hence, we get a unique fixed point of T .

Theorem 3.6. Let (X, d^*, s) be a complete b-multiplicative metric space. If the function

$T: X \rightarrow X$ meets the following condition:

$$d^*(Tx, Ty) \leq \{d^*(x, y)\}^p \{d^*(Tx, x)d^*(Ty, y)\}^q \{d^*(Tx, y)d^*(Ty, x)\}^r \quad \forall x, y \in X$$

where $p + 2q + 2sr < 1$, $sp + q(1+s) + sr(1+s) < 1$ and $s \geq 1$, then we get a unique fixed point

$x^* \in X$ such that $Tx^* = x^*$.

Proof. The proof follows from Theorem 3.4 and Theorem 3.5.

Theorem 3.7. Let (X, d^*, s) be a complete b-multiplicative metric space. If the function

$T: X \rightarrow X$ meets the following condition:

$$d^*(Tx, Ty) \leq [\max\{d(x, Tx), d(y, Ty), d(x, y)\}]^p \{d(x, Ty)d(y, Tx)\}^q \quad \forall x, y \in X \quad (3.14)$$

where $p, q > 0$ and $p + 2sq < 1$. Then, T has a unique fixed point.

Proof. Let $x_0 \in X$ and $\{x_n\}$ be a sequence in X defined by recursion

$$x_n = Tx_{n-1} = \dots = T^n x_0, \quad n = 1, 2, 3, \dots \quad (3.15)$$

By (3.14) and (3.15), we obtain

$$\begin{aligned} d^*(Tx_{n-1}, Tx_n) &\leq [\max\{d^*(x_{n-1}, Tx_{n-1}), d^*(x_n, Tx_n), d^*(x_{n-1}, x_n)\}]^p [d^*(x_{n-1}, Tx_n) d^*(x_n, Tx_{n-1})]^q \\ \Rightarrow d^*(Tx_{n-1}, Tx_n) &\leq [\max\{d^*(x_{n-1}, x_n), d^*(x_n, x_{n+1}), d^*(x_{n-1}, x_n)\}]^p [d^*(x_{n-1}, x_{n+1}) d^*(x_n, x_n)]^q \\ \Rightarrow d^*(Tx_{n-1}, Tx_n) &\leq [\max\{d^*(x_{n-1}, x_n), d^*(x_n, x_{n+1})\}]^p [d^*(x_{n-1}, x_{n+1})]^q \\ \Rightarrow d^*(Tx_{n-1}, Tx_n) &\leq M_1^p \{d^*(x_{n-1}, x_n) d^*(x_n, x_{n+1})\}^{sq} \end{aligned}$$

where $M_1 = \max\{d^*(x_{n-1}, x_n), d^*(x_n, x_{n+1})\}$.

Now, two cases arise:

CASE 1. If suppose $M_1 = d^*(x_n, x_{n+1})$, then

$$\begin{aligned} d^*(x_n, x_{n+1}) &= d^*(Tx_{n-1}, Tx_n) \leq \{d^*(x_n, x_{n+1})\}^p \{d^*(x_{n-1}, x_n)\}^{sq} \{d^*(x_n, x_{n+1})\}^{sq} \\ \Rightarrow \{d^*(x_n, x_{n+1})\}^{1-p-sq} &\leq \{d^*(x_{n-1}, x_n)\}^{sq} \\ \Rightarrow d^*(x_n, x_{n+1}) &\leq \{d^*(x_{n-1}, x_n)\}^{\frac{sq}{1-p-sq}} \\ \Rightarrow d^*(x_n, x_{n+1}) &\leq \{d^*(x_{n-1}, x_n)\}^\lambda, \quad \lambda = \frac{sq}{1-p-sq} < 1 \\ \Rightarrow d^*(x_n, x_{n+1}) &\leq \{d^*(x_{n-2}, x_{n-1})\}^{\lambda^2} \end{aligned}$$

Continuing this process, we get

$$\begin{aligned} d^*(x_n, x_{n+1}) &\leq \{d^*(x_0, x_1)\}^{\lambda^n} \\ \Rightarrow d^*(Tx_{n-1}, Tx_n) &\leq \{d^*(x_0, x_1)\}^{\lambda^n} \end{aligned}$$

Thus, T is b-multiplicative contractive mapping.

CASE 2. Now, assume $M_1 = d^*(x_{n-1}, x_n)$, then

$$\begin{aligned}
& d^*(x_n, x_{n+1}) \leq \{d^*(x_{n-1}, x_n)\}^p \{d^*(x_{n-1}, x_n)\}^{sq} \{d^*(x_n, x_{n+1})\}^{sq} \\
\Rightarrow & \{d^*(x_n, x_{n+1})\}^{1-sq} \leq \{d^*(x_{n-1}, x_n)\}^{p+sq} \\
\Rightarrow & d^*(x_n, x_{n+1}) \leq \{d^*(x_{n-1}, x_n)\}^{\frac{p+sq}{1-sq}} \\
\Rightarrow & d^*(x_n, x_{n+1}) \leq \{d^*(x_{n-1}, x_n)\}^\lambda, \quad \lambda = \frac{p+sq}{1-sq} < 1 \\
\Rightarrow & d^*(x_n, x_{n+1}) \leq \{d^*(x_{n-2}, x_{n-1})\}^{\lambda^2}
\end{aligned}$$

Continuing like this, we obtain

$$d^*(x_n, x_{n+1}) \leq \{d^*(x_0, x_1)\}^{\lambda^n} \quad (3.16)$$

$$\Rightarrow d^*(Tx_{n-1}, Tx_n) \leq \{d^*(x_0, x_1)\}^{\lambda^n}$$

Hence, T is multiplicative contraction mapping.

Now, we show that $\{x_n\}$ is a multiplicative Cauchy sequence in X .

Now for $m > n$, we have

$$\begin{aligned}
d^*(x_n, x_m) & \leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_m)\}^s \\
& \leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_m)\}^{s^2} \\
& \leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_{n+3})\}^{s^3} \dots \{d^*(x_{m-1}, x_m)\}^{s^{m-n}} \\
& \leq \{d^*(x_0, x_1)\}^{s\lambda^n} \{d^*(x_0, x_1)\}^{s^2\lambda^{n+1}} \{d^*(x_0, x_1)\}^{s^3\lambda^{n+2}} \dots \{d^*(x_0, x_1)\}^{s^{m-n}\lambda^{m-1}} \quad (\text{Using 3.16}) \\
& \leq \{d^*(x_0, x_1)\}^{s\lambda^n (1+s\lambda+s^2\lambda^2+\dots+s^{m-n-1}\lambda^{m-n-1})} \\
& \leq \{d^*(x_0, x_1)\}^{\frac{s\lambda^n}{1-s\lambda}}
\end{aligned}$$

This shows that $d^*(x_n, x_m) \rightarrow 1$ as $m, n \rightarrow \infty$.

Hence, $\{x_n\}$ is a b-multiplicative Cauchy sequence in X . Since X is complete, therefore $\{x_n\}$ converges to $x^* \in X$.

Now, we show that x^* is the fixed point of T .

$$d^*(x^*, Tx^*) \leq \{d^*(x^*, x_{n+1})\}^s \{d^*(x_{n+1}, Tx^*)\}^s$$

$$\begin{aligned}
&\Rightarrow d^*(x^*, Tx^*) \leq \{d^*(x^*, x_{n+1})\}^s \{d^*(Tx_n, Tx^*)\}^s \\
&\Rightarrow d^*(x^*, Tx^*) \leq \{d^*(x^*, x_{n+1})\}^s [\max\{d^*(x_n, Tx_n) d^*(x^*, Tx^*) d^*(x_n, x^*)\}]^{sp} \{d^*(x_n, Tx^*) d^*(x^*, Tx_n)\}^{sq} \\
&\Rightarrow d^*(x^*, Tx^*) \leq \{d^*(x^*, x_{n+1})\}^s [\max\{d^*(x_n, x_{n+1}), d^*(x^*, Tx^*), d^*(x_n, x^*)\}]^{sp} \\
&\quad \{d^*(x_n, x^*)\}^{s^2q} \{d^*(x^*, Tx^*)\}^{s^2q} \{d^*(x^*, x_{n+1})\}^{sq} \\
&\Rightarrow \{d^*(x^*, Tx^*)\}^{1-s^2q} \leq \{d^*(x^*, x_{n+1})\}^{s(1+q)} (M_2)^{sp} \{d^*(x_n, x)\}^{s^2q} \\
&\quad \text{where } M_2 = \max\{d^*(x_n, x_{n+1}), d^*(x^*, Tx^*), d^*(x_n, x^*)\} \tag{3.17}
\end{aligned}$$

Suppose $M_2 = d^*(x_n, x_{n+1})$, then from (3.17), we have

$$\begin{aligned}
&\{d^*(x^*, Tx^*)\}^{1-s^2q} \leq \{d^*(x^*, x_{n+1})\}^{s(1+q)} \{d^*(x_n, x_{n+1})\}^{sp} \{d^*(x_n, x^*)\}^{s^2q} \\
&\Rightarrow \{d^*(x^*, Tx^*)\}^{1-s^2q} \leq \{d^*(x^*, x_{n+1})\}^{s(1+q)} \{d^*(x_n, x^*)\}^{s^2p} \{d^*(x^*, x_{n+1})\}^{s^2p} \{d^*(x_n, x^*)\}^{s^2q} \\
&\Rightarrow \{d^*(x^*, Tx^*)\}^{1-s^2q} \leq \{d^*(x^*, x_{n+1})\}^{s(1+q+ps)} \{d^*(x_n, x^*)\}^{s^2(p+q)} \\
&\Rightarrow d^*(x^*, Tx^*) \leq \{d^*(x^*, x_{n+1})\}^{\frac{s(1+q+ps)}{1-s^2q}} \{d^*(x_n, x^*)\}^{\frac{s^2(p+q)}{1-s^2q}} .
\end{aligned}$$

As $\lim_{n \rightarrow \infty} x_n = x^*$, thus we obtain $\lim_{n \rightarrow \infty} d^*(x^*, Tx^*) = 1$ and hence $x^* = Tx^*$.

Therefore, x^* is fixed point of T .

Now, assume $M_2 = d^*(x_n, x^*)$.

Then (from 3.17), we obtain

$$\begin{aligned}
&\{d^*(x^*, Tx^*)\}^{1-s^2q} \leq \{d^*(x^*, x_{n+1})\}^{s(1+q)} \{d^*(x_n, x^*)\}^{sp} \{d^*(x_n, x^*)\}^{s^2q} \\
&\Rightarrow d^*(x^*, Tx^*) \leq \{d^*(x^*, x_{n+1})\}^{\frac{s(1+q)}{1-s^2q}} \{d^*(x_n, x^*)\}^{\frac{sp+s^2q}{1-s^2q}}
\end{aligned}$$

Proceeding limit as $n \rightarrow \infty$, we obtain

$$\lim_{n \rightarrow \infty} d^*(x^*, Tx^*) = 1 \Rightarrow x^* = Tx^* .$$

Therefore, x^* is fixed point of T .

Suppose that $M_2 = d^*(x^*, Tx^*)$.

Then (from 3.17), we get

$$\begin{aligned} \{d^*(x^*, Tx^*)\}^{1-s^2q} &\leq \{d^*(x^*, x_{n+1})\}^{s(1+q)} \{d^*(x^*, Tx^*)\}^{sp} \{d^*(x_n, x^*)\}^{s^2q} \\ \Rightarrow \{d^*(x^*, Tx^*)\}^{(1-s^2q-sp)} &\leq \{d^*(x^*, x_{n+1})\}^{s(1+q)} \{d^*(x_n, x^*)\}^{s^2q} \\ \Rightarrow d^*(x^*, Tx^*) &\leq \{d^*(x^*, x_{n+1})\}^{\frac{s(1+q)}{(1-sp-s^2q)}} \{d^*(x_n, x^*)\}^{\frac{s^2q}{(1-sp-s^2q)}}. \end{aligned}$$

On taking limit as $n \rightarrow \infty$, we obtain

$$\lim_{n \rightarrow \infty} d^*(x^*, Tx^*) = 1 \Rightarrow x^* = Tx^*.$$

Therefore, x^* is the fixed point of T .

Uniqueness of Fixed point:

Assume that x' is another fixed point of T , then we have

$$\begin{aligned} d^*(Tx^*, Tx') &\leq [\max\{d^*(x^*, Tx^*), d^*(x', Tx'), d^*(x^*, x')\}]^p \{d^*(x^*, Tx')d^*(x', Tx')\}^q \\ \Rightarrow d^*(x^*, x') &\leq [\max\{d^*(x^*, x^*), d^*(x', x'), d^*(x^*, x')\}]^p \{d^*(x^*, x')d^*(x', x')\}^q \\ \Rightarrow d^*(x^*, x') &\leq \{d^*(x^*, x')\}^p \{d^*(x^*, x')\}^{2q} \\ \Rightarrow d^*(x^*, x') &\leq \{d^*(x^*, x')\}^{p+2q} \\ \Rightarrow \{d^*(x^*, x')\}^{1-p-2q} &\leq 1 \end{aligned}$$

As $d^*(x^*, x') \geq 1$, thus $d^*(x^*, x') = 1$ and hence $x^* = x'$.

Hence, we obtain that mapping T has a unique fixed point.

Theorem 3.8. Let (X, d^*, s) be a complete b-multiplicative metric space. If the function

$T: X \rightarrow X$ meets the following condition:

$$d^*(Tx, Ty) \leq \{d^*(x, Tx)d^*(y, Ty)\}^{\frac{p}{2}} \{d^*(x, Ty)d^*(y, Tx)\}^{\frac{q}{2}} \{d^*(x, y)\}^r \quad \forall x, y \in X,$$

where $p, q, r > 0$ and $p + sq + r < 1$. Then, T has a unique fixed point.

Proof. Let $x_0 \in X$ and $\{x_n\}$ be a sequence in X defined by recursion

$$x_n = Tx_{n-1} = \dots = T^n x_0, \quad n = 1, 2, 3, \dots$$

Now,

$$\begin{aligned}
d^*(x_n, x_{n+1}) &= d^*(Tx_{n-1}, Tx_n) \leq \{d^*(x_{n-1}, Tx_{n-1})d^*(x_n, Tx_n)\}^{\frac{p}{2}} \{d^*(x_{n-1}, Tx_n)d^*(x_n, Tx_{n-1})\}^{\frac{q}{2}} \{d^*(x_{n-1}, x_n)\}^r \\
d^*(Tx_{n-1}, Tx_n) &\leq \{d^*(x_{n-1}, x_n)d^*(x_n, x_{n+1})\}^{\frac{p}{2}} \{d^*(x_{n-1}, x_{n+1})d^*(x_n, x_n)\}^{\frac{q}{2}} \{d^*(x_{n-1}, x_n)\}^r \\
d^*(Tx_{n-1}, Tx_n) &\leq \{d^*(x_{n-1}, x_n)d^*(x_n, x_{n+1})\}^{\frac{p}{2}} \{d^*(x_{n-1}, x_n)d^*(x_n, x_{n+1})\}^{\frac{sq}{2}} \{d^*(x_{n-1}, x_n)\}^r \\
d^*(Tx_{n-1}, Tx_n) &\leq \{d^*(x_{n-1}, x_n)\}^{\frac{p}{2}} \{d^*(x_n, x_{n+1})\}^{\frac{p}{2}} \{d^*(x_{n-1}, x_n)\}^{\frac{sq}{2}} \{d^*(x_n, x_{n+1})\}^{\frac{sq}{2}} \cdot \{d^*(x_{n-1}, x_n)\}^r \\
\{d^*(x_n, x_{n+1})\}^{\left(1 - \frac{p-sq}{2}\right)} &\leq \{d^*(x_{n-1}, x_n)\}^{\left(\frac{p+sq+r}{2}\right)} \\
d^*(x_n, x_{n+1}) &\leq \{d^*(x_{n-1}, x_n)\}^{\left(\frac{\frac{p+sq+r}{2}}{1 - \frac{p-sq}{2}}\right)} \\
d^*(x_n, x_{n+1}) &\leq \{d^*(x_{n-1}, x_n)\}^\lambda, \quad \lambda = \frac{\frac{p}{2} + \frac{sq}{2} + r}{1 - \frac{p-sq}{2}}
\end{aligned}$$

$$d^*(x_n, x_{n+1}) \leq \{d^*(x_{n-2}, x_{n-1})\}^{\lambda^2}$$

Continuing this process we get,

$$d^*(x_n, x_{n+1}) \leq \{d^*(x_0, x_1)\}^{\lambda^n} \tag{3.18}$$

$$d^*(Tx_{n-1}, Tx_n) \leq \{d^*(x_0, x_1)\}^{\lambda^n}.$$

Now for $m > n$, we have

$$\begin{aligned}
d^*(x_n, x_m) &\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_m)\}^s \\
&\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_m)\}^{s^2} \\
&\leq \{d^*(x_n, x_{n+1})\}^s \{d^*(x_{n+1}, x_{n+2})\}^{s^2} \{d^*(x_{n+2}, x_{n+3})\}^{s^3} \dots \{d^*(x_{m-1}, x_m)\}^{s^{m-n}} \\
&\leq \{d^*(x_0, x_1)\}^{s\lambda^n} \{d^*(x_0, x_1)\}^{s^2\lambda^{n+1}} \{d^*(x_0, x_1)\}^{s^3\lambda^{n+2}} \dots \{d^*(x_0, x_1)\}^{s^{m-n}\lambda^{m-1}} \quad (\text{Using 3.18}) \\
&\leq \{d^*(x_0, x_1)\}^{s\lambda^n (1+s\lambda+s^2\lambda^2+\dots+s^{m-n-1}\lambda^{m-n-1})} \\
&\leq \{d^*(x_0, x_1)\}^{\frac{s\lambda^n}{1-s\lambda}}
\end{aligned}$$

This signifies that $d^*(x_n, x_m) = 1$ as $m, n \rightarrow \infty$.

So, $\{x_n\}$ is a b-multiplicative Cauchy sequence in X . Since X is a complete metric space, therefore $\{x_n\}$ converges to $x^* \in X$.

Now,

$$\begin{aligned}
 d^*(x^*, Tx^*) &\leq \{d^*(x^*, x_{n+1})d^*(x_{n+1}, Tx^*)\}^s \\
 d^*(x^*, Tx^*) &\leq \{d^*(x^*, x_{n+1})\}^s \{d^*(Tx_n, Tx^*)\}^s \\
 d^*(x^*, Tx^*) &\leq d^*(x^*, x_{n+1})^s \{d^*(x_n, Tx_n)d^*(x^*, Tx^*)\}^{\frac{sp}{2}} \{d^*(x_n, Tx^*)d^*(x^*, Tx_n)\}^{\frac{sq}{2}} \cdot \{d^*(x_n, x^*)\}^{sr} \\
 d^*(x^*, Tx^*) &\leq d^*(x^*, x_{n+1})^s \{d^*(x_n, x_{n+1})d^*(x^*, Tx^*)\}^{\frac{sp}{2}} \{d^*(x_n, x^*)d^*(x^*, Tx^*)\}^{\frac{s^2q}{2}} \\
 &\quad \{d^*(x^*, x_{n+1})\}^{\frac{sq}{2}} \{d^*(x_n, x^*)\}^{sr} \\
 d^*(x^*, Tx^*) &\leq d^*(x^*, x_{n+1})^s \{d^*(x_n, x^*)d^*(x^*, x_{n+1})\}^{\frac{s^2p}{2}} \{d^*(x^*, Tx^*)\}^{\frac{sp}{2}} \{d^*(x_n, x^*)d^*(x^*, Tx^*)\}^{\frac{s^2q}{2}} \\
 &\quad \{d^*(x^*, x_{n+1})\}^{\frac{sq}{2}} \{d^*(x_n, x^*)\}^{sr} \\
 \{d^*(x^*, Tx^*)\}^{\left(1 - \frac{sp}{2} - \frac{s^2q}{2}\right)} &\leq \{d^*(x_n, x^*)\}^{\left(sr + \frac{s^2p}{2} + \frac{s^2q}{2}\right)} \{d^*(x^*, x_{n+1})\}^{\left(s + \frac{s^2p}{2} + \frac{sq}{2}\right)} \\
 d^*(x^*, Tx^*) &\leq \{d^*(x_n, x^*)\}^{\left(\frac{sr + \frac{s^2p}{2} + \frac{s^2q}{2}}{1 - \frac{sp}{2} - \frac{s^2q}{2}}\right)} \{d^*(x^*, x_{n+1})\}^{\left(\frac{s + \frac{s^2p}{2} + \frac{sq}{2}}{1 - \frac{sp}{2} - \frac{s^2q}{2}}\right)}
 \end{aligned}$$

As limit $n \rightarrow \infty$, thus we obtain $d(x^*, Tx^*) = 1$. Therefore, $x^* = Tx^*$.

Hence, x^* is fixed point of T .

Further, we will show that T has unique fixed point.

Assume that x' is another fixed point of T , then we have $Tx' = x'$ and $Tx^* = x^*$.

$$\begin{aligned}
 d(x^*, x') &= d(Tx^*, Tx') \leq \{d(x^*, Tx^*)d(x', Tx')\}^{\frac{p}{2}} \{d(x^*, Tx')d(x', Tx^*)\}^{\frac{q}{2}} \{d(x^*, x')\}^r \\
 &\leq \{d(x^*, x^*)d(x', x')\}^{\frac{p}{2}} \{d(x^*, x')d(x', x^*)\}^{\frac{q}{2}} \{d(x^*, x')\}^r
 \end{aligned}$$

$$\leq \{d^*(x^*, x')\}^{\frac{2q}{2}} \cdot \{d^*(x^*, x')\}^r$$

$$\Rightarrow \{d^*(x^*, x')\}^{1-q-r} \leq 1.$$

As $d^*(x^*, x') \geq 1$, thus $d^*(x^*, x') = 1$ and hence $x^* = x'$.

Hence, T has a unique fixed point.

Corollary 3.9. Let (X, d^*, s) be complete b-multiplicative metric space and $T : X \rightarrow X$ be a mapping such that

$$d^*(Tx, Ty) \leq \{d^*(x, Tx)d^*(y, Ty)\}^p \{d^*(x, Ty)d^*(y, Tx)\}^q \{d^*(x, y)\}^r \quad \forall x, y \in X$$

where $p, q, r > 0$ and $2p + q(2s + 1) + r < 1$. Then, T has a unique fixed point.

Proof. The proof easily follows from Theorem 3.8.

CONFLICT OF INTERESTS

The authors declare that there is no conflict of interests.

REFERENCES

- [1] K. Abodayeh, A. Pitea, W. Shatanawi, T. Abdeljawad, Remarks on Multiplicative Metric Spaces and Related Fixed Points, ArXiv:1512.03771 [Math]. (2015).
- [2] R.P. Agarwal, E. Karapınar, B. Samet, An essential remark on fixed point results on multiplicative metric spaces, Fixed Point Theory Appl. 2016 (2016), 21.
- [3] S. Agarwal, K. Qureshi, J. Nema, A fixed point theorem for b-metric space, Int. J. Pure Appl. Math. Sci. 9 (1) (2016), 45-50.
- [4] M.U. Ali, T. Kamaran, A. Kurdi, Fixed point theorems in b-multiplicative metric spaces, U.P. B Sci. Bull., series A, 79(3) (2017), 107-116.
- [5] I.A. Bakhtin, The contraction mapping principle in almost metric spaces, Funct. Anal, Unianowsk, Gos. Ped. Inst. 30 (1989), 26-37.

- [6] A.E. Bashirov, E.M. Kurupnar, A. Ozyapici, Multiplicative calculus and its application, *J. Math. Anal. Appl.* 337 (2008), 36-48.
- [7] Y.J. Cho, Commom fixed point theorem for generalized multiplicative contractions in multiplicative metric spaces, *J. Nonlinear Sci. Appl.* 9 (2016), 2347-2363.
- [8] S. Czerwick, Contraction Mappings in b-Metric Spaces, *Acta Math. Inf. Univ. Ostraviensis*, 1 (1993), 5-11.
- [9] T. Dosenovic, M. Postolache, S. Radenovic, On multiplicative metric spaces: survey, *Fixed Point Theory Appl.* 2016 (2016), 92.
- [10] T. Kamran, M. Samreen, Q.U. Ain, Generalizations of b-metric space and some fixed point theorems, *Mathematics*, 5 (2) (2017), 19.
- [11] M. Kir, H. Kiziltuni, On some well known fixed point theorems in b-metric space, *Turkish J. Anal. Number Theory*, 1 (1) (2013), 13-16.
- [12] A. Shoaib, M. Saleemullah, Some fixed point theorems in b-multiplicative metric space, *J. Appl. Eng. Math.* 10 (4) (2020), 846-856.
- [13] S. Shukla, Some Critical remark on multiplicative metric spaces and fixed point results, *J. Adv. Math. Stud.* 9 (3) (2016), 454-458.
- [14] T. Suzuki, Basic inequality on a b-metric space and its applications, *J. Inequal. Appl.* 2017 (2017), 256.
- [15] M. Ozavsar, A.C. Cevikel, Fixed points of multiplicative contraction mappings on multiplicative metric spaces, *ArXiv:1205.5131 [Math]*. (2012).